Elves’ Shuffling

Enigma n°6

19t" December 2024

In Santa’s workshop, there are nn elves standing in a line. Each elf is wearing either a red hat or a
green hat. They are all aligned together.

The elves are feeling festive and want to rearrange themselves so that all the elves with green hats
stand on the left, and all the elves with red hats stand on the right.

To achieve this, they can swap the positions of two adjacent elves in one step.

What is the minimum number of steps required to get all the green-hatted elves grouped on the left
and all the red-hatted elves grouped on the right?

The elves are initially standing as follows: RGGRRGRGRGGGRGGG, where:

e "R” represents an elf with a red hat, and

e ”G” represents an elf with a green hat.

Red and green elves swapping positions.



